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Pints to Liters

Fill in the correct numbers.
Take 1 pint = 0.47 liters and round your answers off to the nearest hundredth.

2 pints = liters

3 pints = liters

6 pints = liters

0.5 pints = liters

1.2 pints = liters

0.6 pints = liters

0.7 pints = liters

11 pints = liters

1.3 pints = liters

20 pints = liters

0.05 pints = liters

2.09 pints = liters

10 liters = pints

100 liters = pints

200 liters = pints

130 liters = pints

210 liters = pints

350 liters = pints

3.5 liters = pints

10.5 liters = pints

50 liters = pints

30.4 liters = pints

25 liters = pints

211 liters = pints

If 1 pint = 0.47 liters, 1 liter equals 1/0.47 = 2.1276 pints! 
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Answers

Fill in the correct numbers.
Take 1 pint = 0.47 liters and round your answers off to the nearest hundredth.

2 pints = 0.94 liters

3 pints = 1.41 liters

6 pints = 2.82 liters

0.5 pints = 0.24 liters

1.2 pints = 0.56 liters

0.6 pints = 0.28 liters

0.7 pints = 0.33 liters

11 pints = 5.17 liters

1.3 pints = 0.61 liters

20 pints = 9.4 liters

0.05 pints = 0.02 liters

2.09 pints = 0.98 liters

10 liters = 21.28 pints

100 liters = 212.77 pints

200 liters = 425.53 pints

130 liters = 276.6 pints

210 liters = 446.81 pints

350 liters = 744.68 pints

3.5 liters = 7.45 pints

10.5 liters = 22.34 pints

50 liters = 106.38 pints

30.4 liters = 64.68 pints

25 liters = 53.19 pints

211 liters = 448.94 pints

If 1 pint = 0.47 liters, 1 liter equals 1/0.47 = 2.1276 pints! 


